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HAL is a multi-disciplinary open access
archive for the deposit and dissemination of sci-
entific research documents, whether they are pub-
lished or not. The documents may come from
teaching and research institutions in France or
abroad, or from public or private research centers.

L’archive ouverte pluridisciplinaire HAL, est
destinée au dépôt et à la diffusion de documents
scientifiques de niveau recherche, publiés ou non,
émanant des établissements d’enseignement et de
recherche français ou étrangers, des laboratoires
publics ou privés.

Détection de l’hybridation de l’ADN sur réseaux de
transistors à effet de champ avec fixation polylysine

Cédric Gentil

To cite this version:
Cédric Gentil. Détection de l’hybridation de l’ADN sur réseaux de transistors à effet de champ avec
fixation polylysine. Biophysique [physics.bio-ph]. Université Pierre et Marie Curie - Paris VI, 2005.
Français. �NNT : �. �tel-00110298�

https://theses.hal.science/tel-00110298
https://hal.archives-ouvertes.fr


����������� 	� 
��
����
	� ���
��� ������� 
���������

����� �� ��
	�
�	 �� �
�����
��	� ��
�� �

����
������ 	
���
�� ��� ��
������

��������� ��� �

�����
 ���	�


���� ������� �� ����� �� ��
���� �� �	
��
������ ����� �

�	
�� �� �� �
��� �

����
���� �� 	
��
�������� �� 	
���
��� ������� �� ����������� � ���� �� 
����

���
 ������� ��	�	�����

��	���	� �� �� ��� �� ���� ���� ������ �� 
��������� �������� �

�� �� ��

��� ����������
�� �� ��
������� ����
���� �� �
 ��
�� !� ��

�� "#���������
�� 	� $���
��% "#���������
�� &�$� &����� "#���������
�� "� ��
����� ����������



�� ����� ��� ����	
��

����� ��� ���	
���

� �������
�	�� �


 ��� 
���������	��� �� 
�
�� � ��� �
��� �� ����	 
�� 
�������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �

����� ��� 

���� ��
������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �
����� �
 ����
���� ������ ����
� �� ����	 � � � � � � � � � � � � � � � � � � � � � �
����� ������ ��
��
��
���� �� ��
��
���� �� ������� 
���� !�������� � � � � � � � "

��� �� 
��#�� !��� � �� 
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � $
����� %������� �� ������&
!� � � � � � � � � � � � � � � � � � � � � � � � � � � � � $
����� ��� �
����� ����	
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � $

��� ����� �� ��
�
�'�� 
���(!��� ���� � � � � � � � � � � � � � � � � � � � � � � � � � � � �)
����� *�
��
��
�� � �� 
����� � � � � � � � � � � � � � � � � � � � � � � � � � � � �)
����� ��� 
�
�� + ��	 �� ����� 


��

����� � � � � � � � � � � � � � � � � � � � � ��
����� *�
�����!��� ��� 
�
�� + ��	 � � � � � � � � � � � � � � � � � � � � � � � � ��

��� ����
���� ���
�������� ��� ����
����� �� �(
����
���
�� � � � � � � � � � � � � � � � �,
����� -./0-* �� �
������
����� �� �(
����
���
�� � � � � � � � � � � � � � � � � �,
����� �

��

���� + �
 ����
���� �� ���'����
���� �� ����	 � � � � � � � � � � � � �1

� ����
�	�� ���
����	��� ��� ������� �� �����	����� � ���� �� 
���
 � �	�
��	�	��
�� 
����
���� ��
��	������� 
 
��� 2���
�
� �� �
 ����
���� ���
�������� � � � � � � � � � � � � � � � � � � � � � � � � � �)
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����� �
�� BC4�℄ @ 8)  % ��
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�
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����� �
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�
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�
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�
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �8)

2 ����&�� �����	���	)� ��� ����	��� �����
	���� ��&����� �%��� ��
����� 
��
�� �����
����� 3�4�5 �#�
I�� ���
������ ��
��� ���
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �8�
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 ����
 �'�� ����<���� �))  �
�� ����� Ad ≃ 100µ E� �
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�
� /�.2>���
����'���

���
�� + �
 ������� ����

���� �� 
�
�!� σ1 �� �� 
�
� �� G�� ����7 A
�� ���� 
��
�� �� ���<
(
�
����E ��
��� 

� σ2� %
�!�� ��� <
��
����� �� 

�
 ���� 4 �����<��� 
��
���  ���� �� �� ���
��� ���  ���;

����� 
�'������ �� �
 
��
�� 
�������� 
������� �� 
�� ���� 


���� 
�����
L��� !���
�� ��� ��
�������� 

� ���  ���;

���� �� 

�
 ���� σeff � /��� 
�� �'
�������� ���
���
��
���� ;�� �� �'
� ������ 
��
�� �� �
 7��� ��������

� ��



�
K� 

� ��
���
���� �
��

� 

�
!�

��� �
  ������
���� 
 ��� �� 
��;�� �� 
��� ��
�� �
 
��
�� 
�������� + �� ������

�
� �� 
�
�!��� 

�

������ 

� ��� ������� �� 
�
�!�� σint� �  ���
�� ��� ���<� �� �
 
��
��
��3���� �
 ��3����
� ����� 
�  ����� �� ��  ����� σeff 
����
�� 
���� ��� �
 
���� �� 
� 
��
��� 
��
������ 
�� ����� ����� ����

� �� /�.2 �� 
���

� 
<�
 �� ���
����'�� �� C4�� ������
��
��� <
��
����� �� σint �� ���
���� �� �
 
��
����
���� �� �����
����'�� �� C4� ������� ���� �� �

 ������ 4���� ���
��
���� ��� 
�������� �� ���
�� �
�� �� ������� 

�
!�

�� �� ��


����
� 4� ?�




�
K� ����� ��� 
������� �� 
�� ���� 


���� 
����� ��  �������� ���<������� �� �
 
�
�!� ��
����

�� σint� �� ���������
�� ��� ���������� 
�� ����� :

SiOH ⇆ SiO− + H+
surf K1 = 10−6,8 ����−1 A8�1E

SiOK ⇆ SiO− + K+
surf K2 = 10−0,5 ����−1 A8�$E

��� 
�
�!�� ��������

� σint �� �3�
��<� σeff @ σint ^ σS AσS ����!�
�� �
 ������� ����

����
�� 
�
�!�� �� 

�
� ����
�(��
��E ���
��<��� 
���� :

σint = −e([SiO−]) A8��)E

σeff ([KCl]) = σint([KCl]) + σS A8���E

�U σS ��
������� �
 ������� ����

���� �� 
�
�!�� �� 

�
� �� ��
�������� �� 
��
�
!� �� 
��
��3������� ���
����� 
<�
 �
 ���
���� �� I���7 
��� 
���� ��� �
 ���
���� �� ��� ����� :

NS = [SiO−] + [SiOH] + [SiOK] A8���E

�
�� �
������ 	S ����!�� �
 ������� ����

���� ���
�� �� ����� 
��<
�� 

���
�
�� 
�� ����������

�� ����� 8�1 �� 8�$� 
������ + �����
���� ;�
�� :
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 �����
�
����

ln[
eNS

σS − σeff
− 1] = −2Ash(

8, 4 × σeff√
[K+]∞

) + ln[
10−pH

K1
+

[K+]∞
K2

] A8���E

��� ��;��� ����������� ��� �
 <
���� �� σeff �� ���
���� �� �
 
��
����
���� �� �����
����'��
�� C4��

�
 ���������� �� ������ �� 
���� ���
���� ����� ��
����� �� �
 <
��
���� �� σeff = f([KCl])
�� ���
���� ��� 

�
 ����� K1� K2� NS � �� �
 
�
�!� �� 

�
� � σS �� �� 
G�

�
 ;!��� 8�8 ��
������� ���<������� �� σeff ������� 

� ���������� �� ������ �� �����
����
8���� �� ������
�� ��� <
����� P�� ��
���P B,,℄ ��� 

�
 ����� A
� 


����
� 4E : C1 @ �)−6,8� C2

@ �)−0,5� 	S @ 8×1018  −2� σS @ ) �� 
G @ ,�
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σ e
ff

(C
.m

  
 )

-2

[KCl]  (M)

������ ���	 ���������� 
� ���$������� 
� σeff �� ���
���� 
� �� 
��
��������� 
� �����
������� 
� ��
��� 
�
I'� ������� - ������ 
� �� ��
������� ������	�� 
� ���	������ !�9#� ��
 $�����
 
�
 
�������
 �����&���

�����
��
 
��� ) I1 D 9:−6,8 I2 D 9:−0,5 �S D !×1018 �−2 σS D : �� �, D N�

�
 
����� �����<�� ��� �
 ;!��� 8�8 ��� �� ���
��<� ��� ��� 


��� 
<�
 ���  ������ ��
�(
�� ���
��� �


������ �
�� B,,℄ �� 
������� ��� �3��� 
�������� =�
 ����������� 8�$� ��
�! ���
(
���� �� �
 
��
����
���� �� C4� 
��
�� ����
�
� + �� ����� �� �� ��� �� !���
� ���� �����
��
A/�.−E �� ���
 + �����
����� �
 ����

�� 
������
�� + ��� �� ������� A�� <
���� 
������E �� �


�
�!� ��������

�� ��!
��<�� 4�
���
��� 
���� ��

���� �� 
�  ��
� + �����<���� ��� 
��� ���

��( 
#($'�  � 
(�(! ( ��� 
&�*� �$�� 
&00� �� -($(03�$� (O�*�(%!�  � 0& 3!�, �� �-�� (��  � !( 
&�
���$(��&�
�� *�!  � !"�!�
�$&!/��� �( 
&0-($(�*&� (�.  &����* �.-�$�0���(!�* 0&��$�$( ��"�!!� *�0%!�,  � �&��� +(1&�,
��'!�'�(%!�  �2(�� | σint |�

��( 
#($'�  � 
(�(! ��(�� -$�*� �'(!� = P�$&, σeff �*� ����2(!��� = σint�
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��
����
����� �� C4� ��
�������� + �������� 
���
���� ��  ���� ��
������ 4���� ����
�
� ��� ��(
���<�� ��� �
 

���� �
�� ��� �� �
 
����� �� ������ A
� ;!��� 8�8E� 
������
�� ��  ��� � 
���
��� 
�! ���
���� �� σeff � 2��� ��� 
��
����
����� �� �����
����'�� ����������� + �))  %� ����
����������� 8�1 �����<����� �� 
� 
���� ��� �� σeff �
�� 
� �� 
���� 
��� L��� 
� 
��� ��
���
(
��<� ��� + 

���� �� �����
���� �� I���7 
�� 
�� ���
�� �� ������ ��� 
��
����
����� 
��
��� ��
�
 ����

� A����
��� 

� XE �� ��� 
��
����
����� �� <��� � A����
��� 

� ∞E� ���� �� ��������

� :
[H+]>
[H+]∞

= [K+]>
[K+]∞

= e
−e(φ0−φ∞)

kT � �
�� �
������ (φ0 − φ∞) ����!�� �
 ��3����
� �� 
�������� �����
�
 ����

� �� ��
������� �� �� <��� � �� �����
����'��� 4���� ��
�������  �� �� �<����
� ������

�! ���
���� �� �
 
��
����
���� �� C4� ����
K�� ��� <
��
���� �� �
�� �� 
�������� | φ0 −φ∞ |
��  ���;� �
 ��

����� ��� ���� G+ ����� �
 ����

� �� �� <��� � �� �
 ��������� �
�� �
 

����
���� �
���� ���� �� ��� � | φ0 − φ∞ | ��� ���� !�
�� �� ��� ���� G+ ���� ����������� ��� ��

�����
��� ��������

�� 
� ��� 
������ + ��� <
���� �� σeff 
����� A�� <
���� 
������E� ������� C4� 
�!(
 ����� | φ0 −φ∞ | �� ���� �� ��� ���� G+ ������������� 
���� + 
���� ����� �
 ����

� �� �� <��� ��
������
�� ��� �� ������� �� σeff �����<�� ��� �
 ;!��� 8�8� ������� �
 ��

������� ��� ���� �
��
�
 �������� ���� + ��<���� ������ �� ���������
���� ��

�� ���
��� �� ��� �
�� �� �
�� ��  �����
����!����� 
��� �� <
��
����� ��!��;

��<�� �� | φ0 − φ∞ | �� σeff ����� ��

�� ��� 
����
���

<
�� ��� ����������� 8�$ �� 
�  ��
� + �����<����� /�� �
 
��� !�
��� 

���� �� �
 !
  � ��

��
����
����� ��� ���� C+ �� 
�  
����� 

� �
 <
��
���� �� σeff <�
 ����������� 8�$�  
�� <�

�
 ��3����
� �� 
�������� | φ0 − φ∞ | ��� !��<���� ��
���
�
���� G+>/�.−�

2��� �� #�� �� 

�
 ����� AC1� C2� 	S � σS � 
GE ������ �� 
��� 
�
��� 
��
����
���� �� C4��
�� ��� 
������� �� �������� �� ������ ��� �����
���� 8��� �� ��������� ��� <
����� �� ������� ��
σeff � �
 ���������
���� �� 
�� ��������� �
�� ����
������� :

∆USE =
2kT

e
arsinh

⎛
⎝ σeff√

8kTǫ0ǫ
H2O
r [Cl−]

⎞
⎠ +

kT

e
ln

(
a(Cl−)

)
+ C A8���E


�� �� �� �� ���� ��
����� ��� 
������ ∆USE = f([KCl]) �� �� ��� 
� 

��� 
�� ��
�����
��
�3�
����� ��� �� /�.2 ��� ��� 

�
��� ��� ��� 
��� 
����� 

� �� 
��!�
  � �
��� ���� 4=? �� ���

� 

�
����� �������(��
�����
� ��� ��� �3�
����� �� ���
'
�� ��
#����� 
�  ���� ��� 

�
 �����
��  ����� 
;� ��������� ��� 
����� �� ������ ∆USE = f([KCl]) 
���� 
��
�� ��� 
������� ���
������� ��
��� ���
���� �;� �� 
�����<�� �� ���� + �
 �� ��
����� �� �� ��� �� 

�
 ����� 
 ���
������ : C1� C2 ��� �'��� 
����� ��� ��� 
��� �!
�� 
�� <
����� �� ��
��� AC1 @ �)−6,8 �� C2 @
�)−0,5� 
� B,,℄ �� 


����
� 4E �� σS ;�� + )� ��
#���� ��� ����� 
���� �3�
��� ����� <
��
�� 	S �
4 �� ��� 
G� ��� ;!���� 8�"�
 �� 8�"��  ������� �
 
� 

�
���� ����� ������� ��
��� ���
����

#���� ��� 

� ��  ����� σeff 
����
�� �� �� ��
���� �� ������ 
���
�� �� 
� 
�� �
 <
��
����
�� �
 
�
�!� ��������

� �� /�.2� 
��� ��� ��
�����
�� ��#+ 
��������� ��� ��� ;!���� 8���
 �� ��

F��  ������ �� ������ 
�� ����
�� �
�� ����� ���
�� ���� ��� 
��
������ ��
#���� ��� �����
�� ��
����� �� ������� ��
��� ���
���� 4�
���
��� ���������
���� �� �
 ��
���
�
� �� �
 
�
�!�

��(  �9����&�  � V2 � V2 T [SiO−][K+]>
[SiOK]

T �6−0,5, 
&� ��� = F���−℄ T F���V℄ -&�$ FV+℄> T �6−0,5 ∼ :66
0�� �"��@���
�  � V2 *�$ !( 
#($'�  � *�$+(
� �� 
&00��
�  &�
 = ����$2���$ ��� -&�$  �* 
&�
���$(��&�* ��
FV�!℄ *�-�$���$�* = ��� 
���(���  � 0�!!�0&!(�$��

��� -A �*� �
� 
&�*� �$� 
&00� �� -($(03�$�  � 
&��$�!�� �"&%�����&�  "(O�*��0���* 
&$$�
�* (2�
  �* 2(!��$*
 � -A 
&0-$�*�* ���$� G,5 �� S (**�$� ��� 
�$�(��� -�$�����
�  � !( *�0�!(��&��
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Simulation numerique:

N
S
= 6x10

17

pH= 6.8
C= 375 mV

Ajustement modele σeff       constant: 

σ
eff

= -1.18x10
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C= 348.5 mV

 

1E-6 1E-5 1E-4 1E-3 0,01 0,1 1
-50

0

50

100

150

200

250

300

350

400

Simulation numerique:

N
S
= 10
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pH= 6.8
C= 332 mV

= -6.7x10
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C= 325.0 mV

 

 

Ajustement modele σeff       constant: 

σ
eff

[KCl]  (M)
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S
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m

V
)

∆

 <
  

  
U
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S
E

 (
m

V
)

∆

[KCl]  (M)

(a) (b)

������ ��
	 '�������
�� ����� 
�����
 �������������
 ���
������ ��� �� ��
&�� σeff 
��
���� ��

��������� ������	�� ������� �� 
����� �� $�������� 
� �� 
���"� 
��������
� 
� ��@2� .�/ ������

�������������
 
����
���
��� - �� ("��� !�=��� .�/ ������
 �������������
 
����
���
��� - �� ("���
!�=��� ��
 $�����
 
�
 
�������
 �����&���
 �����
��
 
��� ���
�
��
 
�� ��
 "�����	��
 E I1 I2 �� σS �����
��� ���
 �"��� - ��
��
��$����� ) 9:−6,8 9:−0,5 �� :�

��������

� �� ����'�� �� ����
�� �� ���
���� �� �
 
��
����
���� �� �����
����'�� ��  ������
��
��� !���
�� ���  ���� ���<������� ��� 
������ ��
��� ���
��� ��� ��  ����� σeff 
����
��� ?�
��� ��������
�� �� 
����
��� ��� ��������
���� ��� <
����� �� C1 �� C2 
���
  ��� 
� ���� �
��
�
 ������
���� B,,℄� 
�� �� ��� ���
��
���� 
����
�� �� �'��� � 0-*>/�.2>���
����'��  �'���
��
����������� ��� �� 
#���� ��� �� 

�
 ���� 	S � -� �3��� ��� ��� ����� �� ���� ��
�����
��� �� 
 ���
�'��� 
����� ��� 
������� ��������� ��� �� ��
����� �
����
��
���� 
<�
 ��� <
����� �� 	S �!
���
��  �'���� + ��$8��)17 ± ,����)16  −2 �� ��� 
G 
� 
��� ����� "�8 �� "�1� 4��
 ������� ���
����� 
������
� ��� ������
��� -� 

���
������ 
��� ������ ��� ����
����� �� ��
�������� ����������
	S ��� ��<���� �� ����� �� !�
����� 
��� 
���� ��� �
 <
���� !����
�� ��� 


�
��� B,,℄� ?� ���

�
���
�� + ����� ��� ��

��� B,,℄� �
  ������ ����������� �� ����'�� �� ����
�� A��'�
����
�
�������� 
�����
�
� ���� �������E 
��� 
�������
��� ��� 
3�
��� ��� 
��
������ ��������

��	�
2
� 
�������� ��� 
#���� ���� 
����
�� 
'
�� ��� �'��� 
����� ��� ������� 
<�
 σS @ )� �� �� ���
��� �
 
����������� �� �
 
�
�!� �� 

�
� + �
 ������� �� 
�
�!� �3�
��<� σeff @ σint ^ σS ����
��!��!�
��� �� ���
 ��� σS ` | σint |�

%�� -���	
� �	
���������� 
�
�
.�
�� �� ���������� �	��

�	 �	��� �	
� ���� !��������� ����.�
���� �� ��
�

������� �� �
 ����
���� ���
�������� ����	 �� �� 
��'�'���� �
�� �
 !
  � �� 
��
����
�����

� 
����� ����� ��������  ���� ��
���� �� �������� 
���
���� ��  ���� ��
����� ���� !
  � �
��
���� ��� ���� � 
���
��� 
������ ������ ��� ��

����� ���'����
���� ��� ������ ��
����� 
� 
�

����

�	�(�* !�* *��
��$�* ��� �&�* ���!�*&�*, !�* *�$+(
�* (
��2�*  "&./ �  � *�!�
��0 *&�� &%�����* -($ &./ (��&�
�#�$0���� = ��66◦��
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, ��� ��� ��
������ �
�� 
� �� 
���� 4��
���
�� �
 
��'�'����� 
�������� ��
�����
��  ����� ���
��� ����
�� 

������� ��� ��
��<���� �� 
��' ���� ��� 
�� �� �� 
� 

��� �'��� 
����� ��� ���
<
��
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r [Cl−]

⎞
⎠ A8��8E

F� 
#���� ��� 

� ��  ����� σeff 
����
�� ��� ������� ������ �� �
 
�� ���� ����� �� ���
A;!��� 8����
E� 
������ + ��� <
����� �� σeff �� ������� �� ���)−4 ± )�"��)−4 4� −2 
��� ���
7���� 
��'�'���� �� �� �����)−4 ± �����)−4 4� −2 
��� ��� 7���� ��	 ^ 
��'�'����� �� �
��
�� 
�������� �� 
��
�� ��3���� 

�
��� + �)−5 % + 

���� �� 
�� σeff �� �� �����
���� 8��8� ���
���
�
��<� ��� �!
� + �)  = 
��� �
 ��!��� 
��'�'���� �� �� ������� �� )  = 
��� �
 

���� ��	
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�
����

^ 
��'�'����� 4�
���
��� �
 
�� ����  ����� + BC4�℄ @ �)−5 % 
�������� ��� �
 ;!��� 8����
 ��
�3�
���� �  ���
�� ��� 

��� �
 
�
�� �� ��
��� �
�� 
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K��� ��� 
�
� ��!
���� ��� ��� 7����
��	 ^ 
��'�'���� �� ������� �� 1)  = 

� �


��� + �
 ��!�� �� �
�� �� �
 
��'�'���� ���� 4����
<
���� ��
�� ��
�
��
 
��� � 
���
��� ��� 
���� ��� ��3����
�� �� 
�������� �� 
��
�� ��3���
A�)  =E 
���
���� 
�� ���� ��!����� �� 



�
K� ��� ��� 
�
� ����	 ���� ����������� ��� ��� 
�

�������� �� 
��
�� 
� 


�� ��� ��� ���
 #���� 

��� ��
��� ��<���� 8)  = 
��� ��!
��� ��� �

��!��� ��	 ��� ��� �
 ��!��� 
��'�'���� ���� 4�
� ������� ���� ��� �
 
�� ���� �  ������ + �
�
���� ��� ���!���
�������� ��� 
�  ���� 

������� ��� 
������ �
 
��
�� 
� 


���

�
 
���������� ��
#����� 
����
�� ��� ��� <
��
����� �� ������� 
<�
 ��  ����� σeff 
����
��

��� �� �
����� 
��
����
����� �� �����
����'�� ��  ������ ������� ��� �
 ����
���� �� �
 
��
��
��	 ^ 
��'�'���� ����� ���
��<� ��� ;!�� + �
� ��� �� ��� ��� �3��� ���� ����������� ��� ��

�����
�
�� �
 
��
�� ��3���� � �
�� ���� ��� 
� 
����� ��	>
��'�'���� <��� �� �����
���� ��� 
�����(����

���
�� �
 
�

� �� 
���
���  ��� ���� 
�
�!��� 
� ��� 
�� �� 
�� ���!���
�������� �� ��3����
�
�� �
 
��
�� �� 
��'�'���� : �
 ��
���
���� ��
�! ���
����� ��

����<�� �� �
 
��
����
����
�� �����
����'�� ��  ����� ��


��� �� ���&
!��� <
 
�� ����� !�
������ ��� 
� �'��� � �� ��
����!
������ �
 ����
���� ;�
�� 
�����
��� + �� ��
� �U ��� ���!���
�������� ��� 
� 
���� ���
�� 
�

� ��� 
�����(���� + 
���� ��� �� ����'�� �� ����
�� � �� �����
!������ ���
 ����
�� ���

<�
 �
 ����

� �� /�.2 B,$℄� ���� �� 
'
��� �� ���� �
 ��3����
� �� 
�������� �� 
��
�� 
� 


��
����� ��� 7���� ��	 ^ 
��'�'���� �� 
��'�'���� ����� ���  ���;�� 
���� + 
����� ��

��� ��� ;!����
8����
� 8����� �� 8���� �� 



�
K� ��
��� ���
�� ��� ������� <
��� !�
������ ��� #�����+ ��<����

�����<� :

• 
� ��

��� ���� <
�� (8)  =�
• � �
 ;� �� �
 
�� ����  ����� �� ��� A
����� + �)  % �� �
 ;!��� 8����
E� �� 
�
 ����	
��� �� (�)  =� 
���� ���+ 
���� �
������ ��� 
��������� �� 
��
��� ��3���� ���� �� ������� ��
 ����<���� �
 ��3����
� �� 
�������� �� 
��
�� 
� 


�� ����� ���
 
��� ��� �� (�)  =�

• ���� �� 
�� ��� ������ + �
� ��� A
����� + �)−5 % �� �
 ;!��� 8�����E� ��� 
�
� ��� ���

 
������ �� ������� �� (�)  =� ������
�� ��� �
 ��3����
� �� 
�������� �� 
��
�� 
� 


��
��� �� ������� �� )  =�

• � �
 ;� �� �
 ������ �  ����� �� ��� A
����� + �)  % �� �
 ;!��� 8�����E� ��� 
�
� ����	
���� ��<���� 
�������� 
<�
 ��� 
 
������ �� ������� �� ^�)  =�

• ���� �� �
 �������� ���
���� + �
���� ��� A
����� �� !��� 
�
��� ;!��� 8���E� ��� 
�
� ����	
������� 
������� �� �� �
����� 
�
����� ��� ��
���� 
���� ��� �
 ��!��� 
��'�'���� <��� ���

�������� �� 
��
�� ��3��� 
�! ����� �� �)  = : �
 
��
�� 
� 


�� ��	 ^ 
��'�'����

������� + �� ����!
������ �
 ��3����
� �� 
�������� �� 
��
�� 
� 


�� 
�! ���
�� �� �)
 = 
��� 
�������� ^8)  =�

4�� <
��
����� 
��
������ �
 ��3����
� �� 
�������� �� 
��
�� 
� 


�� ����� ��� 7���� ��	
^ 
��'�'���� �� ��� 7���� 
��'�'���� ���� -���� 
��<��� + 
����� 
���� ���� L��� 
��������� +
��� ����!
���
����� �� �
 ����
���� ��	 ^ 
��'�'���� ���+ ���  ���;

����� �� �
 
��
�� ��

��'�'���� ������ ?� 
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�� ���� ����� ��
�! ���
����� ��
���� �� ��<�
� �� �
 
��'�'���� ��� ����� ��

�� ����<���� �)  = <��� �� �
��	 A
����� �� !��� ���
�E

�	�� $�*�!�(� -��� >�$� 
&0-($� = 
�!�� &%���� !&$*  � !"�.-�$���
� -$�*����� *�$ !� '$(-#���� 5��  � -($('$(-#�
5��� �! ��(�� (--($� ��� !"(0-!��� �  �* -�
*  � -&!/!/*���, �2(!��� -($ $(--&$� = !( !�'��  � %(*� ���2, 2($�(��  �
���!���*  �P(���*  � 0�!!�2&!�* ���$� !�*  ��. 0�*�$�*  (�* FV�!℄ T 6,6� 0� �� �*-(
��*  "�� $��1('��
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� �


��� + �
  ����� �3�
���� + )�)�  % 
<
�� �
 
�� ���� 
�
�� �� ����
�����
� A
�����
�����E� 4�� �3�� 
����
�� L��� �J + ���������
� �� ����!
���
����� �� �
 
��
�� �� 
��'�'����� �

;!��� 8���  ����� 

� 
�������� ��� ��� 
������ �� !��� 
�
�� A ����� + )�)�  % + ������� ��

�� ��� ���&
!�E �� �� !��� ���
� A ����� + )�)�  % + ������� �� ������ � ���&
!�E 
���
����

�� 7���� 
��'�'���� ���� 
���������� ?� �� ��� ���
 ���

��� �
 
�� ����  ����� �� ���� �

����
���� �� �
 
��
�� �� 
��'�'���� �� ���� ��
�������� ��� <
��
����� ��� ��3����
�� �� 
��������
�� 
��
�� 
� 


�� �����<��� ���� �� �
 ������ � ����� ��
�! ���
����� �� �
 
��
����
����
�� ��� 

�
������ ���
 ����������� ��� 
������
���� + ���  ���;

����� �� �
 ����
���� ��	 ^

��'�'�����

?� ������� �� 
�� ��3������� 
�
�'��� ��� ���<������� ��� 
�
� ����	 + �
� ��� �������
���� 
��(
��
�� ��� �� ��� � �� 
��
�� ��3���� � �
�� ���� ��� 
��������� �� 
��
�� 
� 


�� 



�
������
#���� �� ���� 
���� ��
�� �� ����� <
��
����� 
��������� + ��



������ �� P
�
� ����	P 
��<
��

<��� �� ��!�� �

��� + 
���� 
�����
���
�� 
� 
�������� �� 
��
�� ��3���� �� ��
 
������� ���(
�� ��� 
��� !�
���� ��� 
����� ���� 
� ���� ��� � �� 
��
�� ��3��� 
���
�� + 
�� 
��
����
�����
���<����
��  
����� !����
��� �� 
� 
���� ��� �� �
 
��
�� �� ���
��' ���� ��	 ^ 
��'�'���� + �
��
���� 
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�  � �� 
����� � 
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������ 
��<
�� �
��� �����<���� 
���� ���� ���  �

��� ��
��!����
�� �� 
���� ��� ����<������ �� 
�
�  �� �� �<����
� ��� �
 
��'�'���� ��� A

�
!�

��
8��E� ��� �
 ����!
���
���� �� �
 ����
���� ��	 ^ 
��'�'���� ��
���� 
��
���  ���� -�
�� ���(
��� �
 
� 
������ ����� ����� �� �'��� � ��	 ^ 
��'�'����� ���� ���� ��  �� ���������� 
�

���� ��� ����<������ �� 
�
� �����<� ��� �
 
��'�'���� ���� �� 
�

���� ���<
�� ��!���
� ��� ���(
�������� 
�
�'��� 
� 
�� ���
���� ��� ���� 
<��� �3�
����� 
;� �����
'�� �������� ���  �

��� ��
���
���
���� �� 
� 
���� ��� P
��� 
�P �� �
 
��'�'���� + �
�� ����
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���� 
������� ��� 
�
�'�� 
� 
�� ���
��� �� 
���� ��� ����<������ �� 
�
� �����<�
��� �
 
��'�'����� �
�� �
 !
  � �
�� ���� �
 
�� ���� 

���� ���� 
� 
�� �� ��3������ ������
��

������ �
�� �
 ������
���� �� ��� ���� ��� ��
���� + �3�
���� �������� ��
�����
�� 
� 
�� ��(
�
����� �
 ��
���� ��
����  ������
 ���
  ��� ��� �� 
���� ��� ����<������ �� 
�
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�����(���� �� �����
����'�� ��  ������ ������ ��� �� 
�� ������
��
��!!��� ��� ���3�� ���3����� ��� ����� ������ �� 
��' ���� + �
�� ��� �


���� �
�� �
 ������
(
����� 
����� L��� ���� ���  �

��� �� � 
����� �
�� �� 
� 
���� ��� ��
������ �� �
 
��'�'�����
�;� �� 
��������� ��� �<�������� ��
��� ���
��� ��� <
��
����� �� ������� 
<�
 
���� �'
�������
��  ����� ���� �� 
�� �� ��������

� /�.2>
��'�'����>���
����'�� 
 ��� ��<���

�� 4���� 
�
�'��
��������� ���
 ����#�� �� �
 �������� 

���� �� 
� 
�

�����

'�� "�


�

�� �� �
��
����� ��
�� 
�

�� �� �������
�

�
������ ������� �
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� 
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���

���
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�'����� ��� 
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 �
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<
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����(
���
���� 
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���� �� <�� ��
��� ���
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�
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�
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�
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��� �
 ����
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<��� 
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��� �
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��
�� 
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�� �� 
��������� ��� �� 

� ��� ��
! ���� �� 
��' ���� 
����� ��� �

����

�� �
 
�
�!� !���
�� �� 
���� 
��
��� 
��������� �� �
 
�
�!� �� ������
�� �� 
���� ���

��' ���� 
�������� �� ��� 
�����(���� �<�������� ��� �
���� ��<
�� �
 
�
�!� �� ������
�
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�� ��� ��
�����
��E� �
 
���� �� 
�������� + �
 ��
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���� 
��
��
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�� 
��� L��� � 
���
�� �� ��� ��!�� ��
��� �� ���
�� ��� �����

����� + 
�����

������

• ���<�� ����� 
��
�� ��3���� ��� �� 

� ��� ���
��� �� ��� ������ P������P ��� 
��' ����
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��
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�� �� ��������� �� 
�����(����� �� 
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���� 
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��
��3��� ��� �
���� 

� ��� 
�����(���� �
�
����� �� 
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�
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�
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��
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��� 
������ ���!� �� ���� �� �
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� C� ������ ������
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���� ��� ���3����� ��� ����� ������ �� 
��' ���� ��
��� �
�� �
 ������
����� 
�������
��� �� �������� ���<
���� 
<�
 ��� �����<
����� ��
��� ���
��� ��� �� 
� 
���� ��� �� �
 
��'�'����
�
�� �
 !
  � �
�� ��� : �������
� ����� 
��
����
���� ������ 
���� ��� ��
���
�� �� �
 �
����
�� �� �
 
��
����
���� �� 
�����(���� �� �����
����'�� ��  ����� �������� �
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�
���� �� ���
������
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<�
 ��� ���
��
���� ��������� 
���
�� �� 
� 
�� ��� ��� �� <
��
���� �� ���

������ ��

�
 
��
�� �� 
��'���
����'��� �� �
 ��� �� � ∝ 
−
1
3

S A��� �� 2��
�� B,1℄E� ��
������ ��� ��
�������

�� ���
�� �� ������ ���

������ �� �
 
��
�� �� 
��' ���� + �
 ��3����
� �� 
�������� �����
��
����� �
 ����

� ����'�� �� �� <��� � �� �����
����'�� ��  ������ ���� �� ��������

�� ?� ������� ��
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�
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�
!�

��� ��� ������
�� ������� 
�� �������� �� �� ������ � �� 
�� �� 
� 

���
��� 
������ ��
��� ���
��� < ∆USE >PLL

SiO2
@ �A
SE 
<�
 ��� 
��<������ ���������� ������ �� �


 ������
�����

�
�� 
���� ���<���� ���
��
����� �
 
��
�� �� 
��'�'���� ��� ��

���� ���

������ � �� ���
 �������� 

� ��� ������������ <��� ���� �� 
�
�!�� �� ������� ρ @ 	�� 
�����<� A	 ����!�� �


��
����
���� <��� ���� �� 
�
�!�� �
�� �
 
��
��E �� �� 
�� ����<��� ���
��<� ε

′

r� 4���� 
��
��
��� ��
���� ��� �� 
�
� 
���
�� ��� ������� ����

���� �� 
�
�!�� σ0� ��!
��<�� 
���������� ��
�@)� �� ��� �  ��!�� �
�� �� ���
����'�� �:� A
�� ����<��� εr @ 1)� 
��
����
���� 
SE �

�

��
���� �� �� �(��


� x > L� ��� 

�

����������� ��  ����� ���� �
��� ����� ��� �
 ;!��� "�,�

�����
���� �� ���'(4�

 
�� 


������ 
�� ���� ��!���� A)W�W�E �� A�X�E� 
�� �� ��
��
���� ���<������� �� 
�������� φ(x) 

� �� �'��� � �����
����� :

d2φ

dx2
=

2ecS

ǫ0ǫr′
sinh(

eφ

kT
) − eN

ǫ0ǫr′
pour 0 < x < L A"��E

��(�* �&��� !( *����, �  �*�'��$( !"�-(�**��$  � !( 
&�
#�  � -&!/!/*��� �� 
S , !( 
&�
���$(��&� �� 
&��$���&�*
 � !"�!�
�$&!/�� �.��$���$�

��( !&�'���$  � �&�/��#(-0(� �*�  �9��� -($ λGC ≃ e
2πlBfNσ

, !B T e2

εkT
 �*�'�(�� !( !&�'���$  � �O�$$�0

4!"���$'��  "����$(
��&� �!�
�$&*�(����� ���$�  ��. 
#($'�* �!�0���(�$�* �, *�-($��* -($ !( !&�'���$  � �O�$$�0
 (�* �� *&!2(��  � -�$0����2���  ��!�
�$���� ε, �*� �'(!� = !"���$'��  "('��(��&� �#�$0���� 7�8, + !( +$(
��&�  �
0&�&03$�* 
#($'�* �� σ !(  ��*��� *�$+(
����  � 
#($'�*  � -&!/03$�*�
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���"�� ��"���$������

d2φ

dx2
=

2ecS

ǫ0ǫr
sinh(

eφ

kT
) pour L < x < ∞ A"��E

�� 
�������� �� 
��
�� ��3��� ����
�� �
���� + �
�� ��� A�� ������� �� ��������  ����<����� 
�

�
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��
�� ������ ��� �

����
���
���� ��� ���
����� "�� �� "��� �� ��

��
�� | eφ

kT |<< 1� ���������
���� ��� ���!�����

�� ���'� �
�� �
 
��
�� �� 
��'�'�����	 λ′
D =

√
ǫ0ǫr′kT
2e2cS

�� �
�� �����
����'�� : λD =
√

ǫ0ǫrkT
2e2cS

�

�� �� 
���� �� ���
���� �� �'��� � ���� �
 ��� � :

d2φ

dx2
=

1

λ2
D′

φ − ρ

ǫ0ǫr′
pour 0 < x < L A"��E

d2φ

dx2
=

1

λ2
D

φ pour L < x < ∞ A"��E

�
 ��� � ��� ��������� ��� � 
���� 

� ��� 
��������� 
�� �� ���� : ǫr′

(
−dφ

dx

)

x=0+
= σ0ǫr′ �

ǫr′

(
−dφ

dx

)

x=L−
= ǫr

(
−dφ

dx

)

x=L+
� φ(L−) = φ(L+)� φ(∞) = 0�

(
dφ
dx

)

x=∞
= 0�

�
 ���������� 
�
�'����� 
� 
���� �� 
� �'��� � ��� 
�������� 4�
���
��� ��� �'
�������
�� 
��;

���
�� : λD = λD′ = λ �� ǫr = ǫr′ = ǫ 
�� ������ ��
���!�� �
 ��� � ��� ��������� ����
�� 
�����<
�� ����� 
���
�

��� 

�

����������� �
�� �
 !
  � �
�� ���� �
�� 
�� 
����������
����
������� �� �
 ��3����
� �� 
�������� φ(0) − φ(∞) ��� ������ 

� :

φ(0) − φ(∞) =
σ0λ

ǫ0ǫ
+

ρλ2

ǫ0ǫ
(1 − e−

L
λ ) A"�8E

�	�( !&�'���$  � ��%/�  (�* !( 
&�
#� +(��, = -$�&$�, ����$2���$ !( 
&�
���$(��&� �� 
&��$���&�* ����$���$� = !(

&�
#� �� �&� !( 
&�
���$(��&� 
S  � !"�!�
�$&!/�� = !"��9��� ��-�� (��, !� 0& 3!� *�$( *�0-!�9� -($ !( *���� ��
-&*(�� � λD = λD′ = λ�
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PLL = λ

L(1−e−
L
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�������� φ(0) − φ(∞) 
��� �� ���
���� ���� �
 ��� � :

φ(0) − φ(∞) =
(σ0 + σ∗

PLL)

ǫ0ǫ
λ A"�"E

F�� 
�! ���
���� �� �
 
��
����
���� �� ���� 
S � �� �����
����'�� ��  ����� ����
K�
�� ���
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S ��

��� ����
������� �� �
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� �� ���� 
��<���

���� L��� 
��������� :

• :	�	�� "�� ��� � λ >> L

�
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���� ����
����� �
 ���!���� �� ���'�� λ ��� ���� ��
������� + ���

������ � �� �
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�
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� ��  ����� σeff 
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� ��� ������� ����

���� �� 
�
�!�� ����<
������ σPLL @ ρ� 
����
����
F� ��<���

� ��� �� ��� 
� 
�� ��� ������� �� L

λ �� ����
������� "�" 
������ + :

φ(0) − φ(∞) =

(
σ0 + σPLL

ǫ0ǫ

)
λ A"�,E

��� ���!����� �� ���'� 
��� ��� 
��
����
����� �� ��� �� )��  %� �  % �� �)  %
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� ��  ����� σeff 
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�� 
���
��� 
��
����
����� ������������ �� ����� �� �)  % 
�����
��� + 
���� + �
 �� ��� 
� ���+ ��
�
������ ��  ����� σeff 
����
�� ����� 
��� <
�
���� �
�� �� 

��� �� �
 ���
��
���� 
��������
�
�� 
� 

�
!�

��� 
���� �� ��� ��� ������ 

� � ∼ λ� �� 
���� ��� ����<������ �� 
�
�
���
�� 
���� ��� + ���
�
��
!� ����� 
��
�� �� �������� �
�� ����� ���

������ Aλ @ � � 
+ �)  %E� 4���� <
���� ���� ����!��� �� 
���� ������� 

� ���  ������ ����
�� �������� A∼
8)) � E� �� ��� �������� ��� ���  ���;

����� ��!����
�� ����<������ �� 
�
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��
����
������ �
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�� 
�


�
!�

�� 
������� ��� 
����� �� ����� 
�������� �� ��9��� ��� ��� <
��
����� �� 
��������
�� 
��
�� ��3���� 4� 
���� ���
 ��
��� �
�� �
 ���
������ 
�������� + �
 ;� �� 
���� ��
�����

• :	�	�� ���� ��� � L >> λ

������� � ��<���� �� ������� �� !�
����� �� λ� ��� �3��� ���
�
��
!� 
�  ��
��� + �����(
<���� �
�� �
 ������������ �� 
�
�!��� ρ�  ������
�� �
 
��
�� �� 
��'�'����� 2��� �aλ� ��
��� � 1 − e−

L
λ ��<���� �� ������� �� � �� �����
���� "�" 
��� �� ���
���� :

���"���(��&� G�S 
&$$�*-&� = !( !���($�*(��&�  � ��$0� 2KT
e

ash(
σeff√

8KTǫ0ǫrcS

), &%����  (�* !� 0& 3!� σeff


&�*�(��, �� -&*(�� σeff T σ0 + σPLL�
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φ(0) − φ(∞) =
σ0λ

ǫ0ǫ
+

σPLLλ2

ǫ0ǫL
=

(
σ0 + σPLL

λ
L

ǫ0ǫ

)
λ A"�1E
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�
 ���� σPLL @ ρ� 
����
��� ��

���
�����
���� "�1 �� �
�� �
 �� ��� �
�� ���� �
 ��3����
� �� 
�������� φ(0) − φ(∞) ���
��� σ0λ

ǫ0ǫ 
���

�
 ����

� �� /�.2 ��� �� σ0λ
ǫ0ǫ + σPLLλ2

ǫ0ǫL 
��� �
 7��� /�.2 ^ 
��'�'����� *��#���� �
�� �
 �� ���
�
�� ���� ����
������� ��������� �� < ∆USE >PLL

SiO2

���� ���
 �
 ��� � :

< ∆USE >PLL
SiO2

=
σPLLλ2

ǫ0ǫL
A"�$E

?� 
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����� 4�
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�� ��� ���

<
����� �� σPLL 
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 ����

� �� /�.2 ���� σ0λ

ǫ0ǫ � �� �� 
���� �� �
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�� ��


��'�'����� σ0λ
ǫ0ǫ + σPLLλ2

ǫ0ǫL � �
�� ����
������� "�1�

%
�!�� ������R�
�
� �� 
�  ����� 
��� ��
������ ����<������ �� 
�
�� ���� 
<��� ���
'� ��

� 

��� ��� 
������ ��
��� ���
��� < ∆USE >PLL

SiO2
@ �A
SE + 
����� 
��<��� 

� 
���� ���
��
����

�� �
��
�� ��� �'
������� ���<
���� :

• ��� <
��
����� �� ���

������ �� �
 
��
�� �� 
��'�'���� �� ���
���� �� �
 
��
����
���� �� ���
�� �����
����'�� ��  ����� ��� ���  ��������� 
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2eme hybridation    Cy3 - Seq 2*
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�
��'��>���
����'��� �����
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�
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�� �� ���
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��� �3�
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 ����� ���
��
���� ����� ����������� �� �'��� ��
��!��!�
�� ���<��������� <
��
����� �
���
��� ��� 

�
 ����� �
�� �
 ����
���� ����
�>��
��� �


�����
� �� !���
� ���� 
�
�!�� + ��������

� ��'��>���
����'��� ���  �������� 

� ��� �������
����

���� �� 
�
�!� σint� �
�� ���  ������
���� �� �'
� ������ 
��
�� ���
���
�� ���� B,8� ,"℄�
σint 
���� 

� ��� 
��� L��� <� 
�  � �
 ��  � �� ���� 
������������ : ��� 
�
�!� ��!
��<� σ1


� ��<�
� �� 
�
� SiO2� ��� 
���
�

�� ��� 
�� !���
�� �����
�� SiO−� �� ��� 
�
�!� 
�����<��
σ2� ��

����� ��� �� 
�
� ��� �� G�� ����7 �� ��
��<
�� �
 
�� ���� 
��
�� �� ���<
�
����� �����(
������ ��� 
��������� �� 

������ �
 
�
�!� ��������
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��� ���
 ���
���� σint = σ1 + σ2 �� �����
!���
�� ��� ��!
��<� ����� B,,℄�

�
�
� �� 
����� � *'$:���
����+��

�
�� �� 

� ����� ����
���� %./0-*� �� 
�
 
 ���
������� ESiO2 � �����
�� �
�� �
 
��
��
����
��� ����'�� �� ����
�� � 
�� �� ����
�� �� �
 ��3����
� �� 
�������� ����
�>!�����  ��
�������
FSG� -� ��!��!�
�� �
 
�����
� �� 
�
�!�� �
�� ����'��� ESiO2 ��� ����� + �
 ������� �� 
�
�!� σS

�� �
 
��
�� ����<������ 

� �
 ���
���� :

ESiO2 =
σS

ǫ0ǫ
SiO2
r

A4��E
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�������� �
 ��� � ��� 
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����������� ?SD @ �AFSGEUSD=cste ���� %./0-*� 
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�� �� �� �
 ������� ����
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������
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����� ���<����� �
 ������� FSG �� ���
 �� 
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���� ��� �� 
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������ ���
���� 
��
���  ��� ����� ���
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��<
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<��� ���� �
�� �����
����'�� �� � 
���
��� <
���� 
����
��� 
��� �� 
�������� φ0 �� ��������

� ��'��>���
����'��� -� �������&
�� φ0 

�
�


��� + �
 ����
�� �
 ������� USE 
��� 
���� ���
���� :

USE = −φ0 + ∆φaq A4��E

�U ∆φaq 
�����
��� 
� �
�� �� 
�������� ����� �
 ����

� ����'�� �� ����
�� �� �� 
��
�  �(
�
������ �� �����
����� �!>�!4�� � ISD �� USD 
����
���� �
 ��� � ��� <
��
����� �� �
 �������
����
�>���
������ USE � ��� ���
 � 
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� �
 

���� P���
����'��P �� �'��� ��

�
�
	 '-�������� �� �� ������� ����
�:���
����� �� ���
���� �� ��

��
��������� �� ��� �� �����
����+��

����
������� �� ∆φaq �
�� �����<���� ����� 
������������ :

• �
 
���� �� 
�������� ∆φCC ����� �
 ����

� ����'�� �� �� 
�
� �� G�� ����7�

• �
 <
��
���� �� 
��������� ∆φCD� ���� + ���������
� ����� 
��
�� ��3��� ����� �� 
�
� ��
G�� ����7 �� �� <��� � �� �����
����'��� ���� �� �
 ����

��

• �� ��� � 
���
�� + �
 ��3����
� �� 
�������� ����� �����
����'�� �� �� 
��
�  ��
������ ��
�����
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�� �� 
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���
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��������� ��

−→
D + �
 ��
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� SiO2>���
����'�� A�@)E :
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∆φCC =
σ1 + ǫ0ǫ

SiO2
r ESiO2

ǫ0ǫin
r

a =
σ1 + σS

ǫ0ǫin
r

a A4��E
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 : ����
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� B,8� ,"℄ :

φ(x) − φ(∞) =
2kT

e
arsinh

⎛
⎝

√
ǫ0ǫ

H2O
r

[Cl−] 8kT

(
−dφ

dx

)⎞
⎠ A4��E

�U φ(x) �� −dφ
dx ���� ���
�
��<� ��� �� 
�������� �� �� 
�
 
 ���
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��� ����
�
� � �� �
 ����
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�� �����
����'��� ���� �� �
 ����

�
A�>>)E�

�
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��
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�������� ∆φCD ����� �
 ����

� �� 
�
�!� σ2 A�@
E �� �� <��� � �� �����
���(
�'��� ��� ����� ���� 

� �
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���� �� 
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 ���
������ �� �@
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−dφ

dx
(a+) =

σint + ǫ0ǫ
SiO2
r ESiO2

ǫ0ǫ
H2O
r

=
σ1 + σ2 + σS

ǫ0ǫ
H2O
r

A4�8E
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��� 
���� ��;��� ��� ������� �3�
��<� �� 
�
�!�� σeff � 
�����
���
�� + �
 ��  � ���
�������� �� 
�
�!� P<���P 

� �� ����� �� �
 
��
�� ��3��� Ax = a+E :

σeff = σ1 + σ2 + σS A4�"E
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�
�� ��� ���
����� 4�� �� 4�8� �� �
�� �� 
�������� ∆φCD ���
��� 
���� :

∆φCD = φ(a) − φ(∞) =
2kT

e
arsinh

⎛
⎝ σeff√

[Cl−]8kTǫ0ǫ
H2O
r

⎞
⎠ A4�,E

2
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�������� ����� �����
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����� ��
�!��� ��� ����� 

�
���

��� �� 
�������� �� 	����� �� �����
����� �!>�!4� B�)$℄ :

−∆φNernst =
kT

e
ln

(
a(Cl−)

a(Cl−)PZC

)
A4�1E

�U� �
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���� ���
����� a(Cl−) �� a(Cl−)PZC ����!���� ���
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���(
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���� 
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���� �� 
�
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�������� ∆φaq ����� �
 ����
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 ������� USE ���
��� :

USE = −φ0 + ∆φaq = −φ0 + ∆φCC + ∆φCD − ∆φNernst A4�$E
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�
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���� �� �
 ��
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σ1+σS

ǫ0ǫin
r

a
)
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�� σsel

eff = σref
eff � �
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� ∆USE = U sel

SE − U ref
SE 
��� ���
 ��  ����� ���� �


��� � :
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SE =
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e
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⎛
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⎞
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e
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e arsinh

(
σeff√

[Cl−]ref8kTǫ0ǫ
H2O
r

)
+ kT

e ln (a(Cl−)ref )

��� �<�������� ��
��� ���
��� �� ���
���� �� �
 
��
����
���� �� ��� 
��� ��� ����

�� ����'��
���� ���� ���
 ��
����� 

� ����
������� 4���� �
��
�� �����<���� ���� 

�
 ����� : �
 
�
�!�
�3�
��<� σeff � 
����
���� <�� 

� �� ����� �� �
 
��
�� ��3��� �� �
 
����
��� 4 �� ��
���
��
��� �� 
���� �� �
 �������
�� �����
���� 4��� ���
 

� �
 ����� 


���� ���
���� ��  ����� 
�
�!�
�3�
��<� 
����
����

�
�
& �����
����� ���
��6��� �� �� 
��
���������

�����
���� 
��
������ �
�� 



�
K��� ��

��<��� �� �
 
��
����
���� �� ���� Cl−� ?� ��� 
�������
�� ������ 
�� ���� ��
������ + �
 
��
����
���� �� C4� ����������� �� ���
�� 
� 
�� �� �
 ����������
�� �����
����� �!4�>�! + �
� ��� �� ��� 
����
����� ��

��<��� + �
�� ����

4���"	�	��

-� ������
�� �
 ��;������ �� 
������ �� ����������� KS � �� AAgCl(s)E� �� �
 ���
���� �����
���(
�����
������ �� ��� 
������� �� ���
���� �
 
��
����
���� �� ���� Cl− �� ���
���� �� �
 
��
����
����
�� ���� K+� �!
�� + �
 ��
����� �� C4� ���������� A[KCl]intE :

[Cl−] =
1

2

(
[K+] +

√
[K+]2 + 4KS

)
=

1

2

(
[KCl]int +

√
[KCl]2int + 4KS

)
A4���E

4���� 
����
���� �����<���� + �
� ��� ��
�� �
 ��
�����
√

4KS ∼ 2.10−5 ����� 
��� ��!��!�
���
��<
�� BC4�℄int� 
����(+(���� 
��� ��� 
��
����
����� �� ��� �� ������� �� 10−5%�

�
�	)	��

�� 
��R
���� ��

��<��� γCl− ��� ���� Cl− 
��� L��� ����� + �
 
��
����
���� �� B4�−℄ ��
������
�� ��� ��� �� ���'�(GY
O�� ������� B���℄ :

log(γCl−) = log

(
a(Cl−)

[Cl−]

)
= − A

√
[Cl−]

1 + B
√

[Cl−]

�KS = a(Ag+)a(Cl−) = 1, 77.10−10�
�[Cl−] = [K+] + [Ag+]�
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�U � �� I ���� ���� 
����
���� ��� ���� 
��� ����� ���� + ��
��� �� ������� �
������ �
�� B��)℄
A�@)�8)$ �� I@���E�

��

��<��� ��� 
���� ������ �� ���
���� �� �
 
��
����
���� �� ���� 
������� 

� :

a(Cl−) = [Cl−].10
− A

√
[Cl−]

1+B
√

[Cl−]

4�� 
����
����� �����<������� 
����� + �
�� �������������
���� �� �
 ���
���� 4��� 
�� �� ���������
��

��<��� �� ���
���� �� �
 
��
����
���� �� ���� 
������� ���������� A[KCl]intE :

a(Cl−) =
1

2

(
[KCl]int +

√
[KCl]2int + 4KS

)
.10

−
A

√
1
2

(
[KCl]int+

√
[KCl]2

int
+4KS

)

1+B

√
1
2

(
[KCl]int+

√
[KCl]2

int
+4KS

)

A4��8E

2��� �� !�
���� 
��
����
����� �� ���� �
 ��
������ �� 
������ �� 
� 
�� ��� 
����
�����
��

��<��� 



�
K� 
�
��� �
�� �� ��� � �����
������ 2
� 
������ �� 
� ��� 
��
���� �� ��� �
�� 
��
�� ��3���� ��
��� ��
���� ����� [Cl−] �� a(Cl−) �� ��� L��� ��
�
��
 
��� 9���� �
��
��� 
#���� ���� ��� 
������ ��
��� ���
���� ���� 
<��� �'��� 
����� ��� !
��� ����
�������
�� �����
���� 4��� 
��� �� ��� � �� 
��
�� ��3��� �� 
��� �� 
� 
�� ��� 
����
����� ��

��<���
������� 

� �
 ��� ��� 4��8 �
�� �� ��� � �����
������

�
�
1 ����
����������� �� ������ % 
��� � �,�
��6� 
��������

�� 
�

���� 8� ��  ����� 
�
�!� �3�
��<� 
����
���� ��������� 
��
���  ���� ���
 ������ 
�


� �� ����

�� ����'�� ��
��<����� �� 
��'�'���� �� ����	 �� �� 
��'�'����� ?� 



�
K� ���

��������
�� ��  ����� �� �<����
� �� 
� 
���� ��� ��� 
������ ∆USE = f [KClint]� �� ���
����
�� ��3������� <
����� �� 

�
 ���� σeff �

� 

���� �� �����
���� 4���

∆USE =
2kT

e
arsinh

⎛
⎝ σeff√

[Cl−]8kTǫ0ǫ
H2O
r

⎞
⎠ +

kT

e
ln

(
a(Cl−)

)
+ C

�� ��� ���
����� 4��� �� 4��8� �� ��� 
������� �� �� ���� ��� 

�

����������� ��� 
������∆USE =
f([KCl]int) 
��� ��3������� <
����� �� σeff A
�� ;!��� 4��E�

�
 <
��
���� �� ∆USE ��� ���� + �
 ����� + ���3�� �� ��� � �����
����� A−∆φNernstE :

−∆φNernst =
kT

e
ln

(
a(Cl−)

)
+ cte

�� + 
���� �� ��� � �� 
��
�� ��3����  ������
�� ���
�
��
!� �� �
 
�
�!� σeff 

� �����
����'��
��  ����� :

��&�$  �* 2(!��$*  � [Cl−]  � 4�0�, �60�, �66 0� �� ��8, !"(
��2��� a(Cl−) �*� $�*-�
��2�0��� �'(!� =
46�KG6, 6�K6�, 6�SS, 6�G6S8∗[Cl−]
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eff
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eff
 =  0 

  
eff
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eff
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eff
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σ
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σ
σ
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m
V
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eff
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eff
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������ ���	 A$�������
 
� ∆USE  �� ���
���� 
� �� 
��
��������� �� 
�� 
� �����
������� 
�
��
��� ���� 
��������
 $�����
 
� �� 
���"� ���
��$�� ���
 
���� 
��������� �� $����� 
� ��

��
����� ' 
����
���
 - ��� 
��
��������� [KCl]int 
� �������
� �"��� - 9?�

∆φCD =
2kT

e
arsinh

⎛
⎝ σeff√

[Cl−]8kTǫ0ǫ
H2O
r

⎞
⎠ =

2kT

e
arsinh

(
α

σeff√
[Cl−]

)


<�
 α =
1√

8kTǫ0ǫ
H2O
r

≈ 8.4 {
��
 [Cl−] ��

���� �� mol.l−1

�� 
��
 σeff ��

���� �� C/m2

• 2��� ��� 
�
�!� �3�
��<� ����� Aσeff = 0E :
�� ��� � ∆φCD �������<���� 

� ��� �
 ��
���
�
� �� ��� ��� �
�� 
� 

� ������ ��� ��� + ��
�3�� �����
������ 	��� �����<��� 
�
������ ���� ��� �
 
����� 
�����
���
��� A
����� �����E�
��� 
����  �'���� �� 8$  =>��

��� �
 
������� �����<
��� + �
� ��� A< 10−4ME ������� �� �


����
���� ���� + �
 ���������� ��� 
���� + �
�� ��� A> 10−1ME� �� �
 
����
���� ��

��<����

• 2��� ��� 
�
�!�� �3�
��<�� ��!
��<�� Aσeff < 0E :
σeff√
[Cl−]

ր ��
�� [Cl−] ր ���U ��� 
�! ���
���� �� ∆USE ��� 
� ��� � �� 
��
�� ��3��� ��

�
#���
�� + 
���� ���� + �����
������ �
 
����  
�� 
�� 
�����
���
�� + ��� 
�
�!�� �3�
��<��
����� ��!
��<�� ��� �� 8$  =>��

�� ���� ��� 
���� ���
�� �� ��1  =>��

���

��&$*���
α|σeff

+

−
|√

[Cl−]
≫ 1, !� ��$0�  � 
&�
#�  �<�*� -$�� !( +&$0� �

∆φCD =
2kT

e
arsinh

(
α

σeff
+
−√

[Cl−]

)
≈ ∓kT

e
(ln[Cl

−]) ± 2kT

e
ln(2α | σeff

+
− |)

�&�$ σeff < 0, 
� ��$0� (O&��� ��� 2($�(��&� (�(!&'�� = 
�!!�  � !"�!�
�$& � 4-���� kT
e

ln(10) ≈ G6 0BI �
( �8
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• 2��� ��� 
�
�!�� �3�
��<�� 
�����<�� Aσeff > 0E :
σeff√
[Cl−]

ց ��
�� [Cl−] ր ���U ��� �� ������� �� ∆USE ��� 
������
�
�
� ��
�! ���
���� ���� +

�����
������ �
 
����  ��� 
��� 
��� ��� 
�
�!�� �3�
��<�� ���� 
�����<��� ��
�� �� (")  =>��

���
�
 
���� ���
�� ��<���� ������

#�� 9������	���� �� ������
$	
� "�221���
�
����� 	.�



� �	
	���
� σeff .	
�	/��

��  ����� σeff 
����
�� ��<���

� 
��
���  ���� 
 ��� ����<� + 

���� ����� ���
��
���� ��
�
 
��
�� 
��������� 
� <�����
!� �� ��������

�� �
��
�� �����<���� ���� 
�
�� �� 
�
�!� : �� 
�
�
/�.2>���
����'��� 
���
�� + �
 ������� ����

���� �� 
�
�!� σ1 �� �� 
�
� �� G�� ����7 ��
��� 

� σ2�
��� ������
�� ��
��� ���
�� 
�������� 
� 
�

���� 8  ��������� ��� ���  ���;

����� 
�'������
�� �
 
��
�� 
�������� 
�������� �� 
�� ���� 


���� 
����� L��� !���
�� ��� ��
�������� 

� ���
 ���;

���� �� 

�
 ���� σeff � /��� 
�� �'
�������� ��� ���
��
���� ;�� �� �'
� ������ 
��
��
�� �
 7��� ��������

�� ��



�
K� 

� ��
���
���� �
  ������
���� 
�������� �
�� 
���� ��
���� 

��� �� 
��;�� �� 
��� ��
�� �
 
��
�� 
�������� + �� ������ 
�
� �� 
�
�!��� 

�

������ 

� ���
������� �� 
�
�!� σint� �  ���
�� ��� ���<� �� �
 
��
�� ��3���� �
 ��3����
� ����� 
�  �����
�� ��  ����� σeff 
����
�� 
���� ��� �
 
���� �� 
� 
�� ��� 
��
������ 
�� ����� ����� ����

�
�� /�.2 �� 
���

� 
<�
 �� ���
����'�� �:�� ������
�� ��� <
��
����� �� σint �� ���
���� �� �


��
����
���� �� �����
����'�� �� C4� ������� ���� �� �
  ������

�
 
�� �� �� ��������

� /�.2>���
����'�� 
 ��� ���� �������� ��3������� ��
�������� ���
  ���
�
 �
�
����
�
�� 5
 
� �� �
 5%	 B,,� ���� ���℄� ��� 
�� �� ��������;�� ��� ��
�
�� 
��������
+ �
 ����

� �� ���  ����� ���� 
��� ��� 
G ��
������� + ��<���� �� ��� !���
�� ���
��� A/�.GE
����������� 
������
�� + �
 ��� 
���� ������ �����
��� /�.−� ��� 
�
�'��� �3�
����� 

� 
����
���(
!�

��� B,,℄ ��� �<
��� ��� �
 ������� ����

���� ���
�� �� ����� ���
�
������ ��L��� �������� �����
	S 

� �
 ������ ��� �� ������� �� 5×1018  −2� ��
���� 

��� ��� ��
�����
�� �� ����
!� B,,℄ �������
�
 
����
��� 
���
��� + �
 ��

���� �� �����
�
���� ���
���>�����
�� + ��<���� 106,8� ������
�� ���
�
 ����

� ����� ��� �
���� ��� 

���� F�� ���
��
���� !����
�� ��� 
� ��� �� �
 <
��
���� �� �


�
�!� �� ��������

� /�.2>���
����'�� �� ���
���� �� 
G �� ��� 
�����(���� 
������� �� ���������
��� ������ ��� �
 
���� �� 
� 
�� �� ��3������ ���������� �� 
� 
���
���� 
��<
�� � 
������ ���
!���
� ���� ���
��� �� �����
��� ��

��� B���℄� �� ��� 
�������� �� 
�� ���� 


���� 
����� ��
 �������� ���<������� �� �
 
�
�!� �� ����

�� σint� �� ���������
�� ��� ���������� 
�� ����� :

SiOH ⇆ SiO− + H+
surf K1 =

[SiO−][H+]>
[SiOH]

= 10−6,8 ����−1 A4��"E

SiOK ⇆ SiO− + K+
surf K2 =

[SiO−][K+]>
[SiOK]

= 10−0,5 ����−1 A4��,E

��� 
����
���� 
��
������� ���� ������������ �� ���� �����<���� ���� ��� 
��
����
����� ����
(

����� ��� ��
�
�� /�.−� /�.G �� /�.C� ������ ���
�
��<� ��� B/�.−℄� B/�.G℄� B/�.C℄� ���� ���

��, -&�$ σeff > 0, ��� 2($�(��&� ��2�$*� ��2�$*�  � − kT
e

ln(10) ≈ �G6 0BI �
( ��
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��
����
����� <��� ������ 
� <�����
!� �� �
 ����

�� ��� ���� H+� Cl− �� K+� ������ [H+]>�
[Cl−]> �� [K+]>� ��  
����� !����
��� �
 ������� �� I���7 
�� 
�� �� �� ������ ��� 
��
����
(
����� 
��
��� ��� ����

��� 
�� 
��
����
����� �� <��� ��� ���� �� ��������

�� 

� �
 ���
���� :

[H+]>
[H+]∞

=
[K+]>
[K+]∞

=
[Cl−]>
[Cl−]∞

= e
−e(φ0−φ∞)

kT A4��1E

�U φ0 �� φ∞ ����!���� ���
�
��<� ��� �� 
�������� 
� ��<�
� �� 
�
� �� ��������

� ��'��>���
����'���


�

������ 

� σint �� �� 
�������� + ����;��� �
�� �� <��� � �� �
 ���������

�
 ��3����
� �� 
�������� Aφ0 − φ∞E 
�����
��� 
� ��� � �� 
��
�� ��3��� ����� �
��
��


����
� 4 �� ���
��� ���
 :

φ0 − φ∞ =
2kT

e
× Ash(

α × σeff√
[K+]∞

) A4��$E


<�
 α =
1√

8kTǫ0ǫ
H2O
r

≈ 8.4 {
��
 [Cl−] ��

���� �� mol.l−1

�� 
��
 σeff ��

���� �� C/m2

σeff ��
������� ����� 
�� �
 ��  � �� �
 
�
�!� �� 

�
� σS � �� �� σint�  
�� ��
���  
��(
���
�� �� �
 
��
����
���� �� �����
����'�� <�
 ��� ���� ���������� 4��" �� 4��, :

σeff ([KCL]) = σint([KCL]) + σS A4��)E

2
� 
�������� ��� ���������� 4��" �� 4��, �� �
��
�� �����<���� ��� /�.− 
�  � ��
�
� 
�
�!���
�
 
�
�!� �� ����

� σint 
��� ���
���� :

σint = −e([SiO−]>) A4���E

-�;�� �
 ������� ����

���� ���
�� �� ������ NS � 
��<
�� 

���
�
�� 
�� ��3������ ����������

�� ����� ��
�� ;���� �� 
��� �
���� �
 ���
���� �� ��� ����� :

NS = [SiO−] + [SiOH] + [SiOK] A4���E

��� ��
�������� 4��" + 4��� 
���������� ��� ���
����� �������� 
��� �
  ������
�����

���* 
&�
���$(��&�* 2&!�0����*, !&��  � !"����$+(
�  (�* !( *&!���&�, *�$&�� �� �
��* -($ !� */0%&!� ∞ � [H+]∞,
[Cl−]∞���
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-� 
��
�
�� 4��� 
<�
 ��� ��
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